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3.

ey kA

(c)

po |2

4y n

In the expansion of (1 + x)%3, if the coefficients
of 2r + D™ and (r + 2 terms are equal, then

what is the value of r (r# 1) ?

() [B|l=1
(c) Pe(d,e)

(@ Be(,1)

Let A and B be subsets of X and
C=(ANB)U (A N B), where A’ and B’ are

complements of A and B respectively in X.
What is C equal to ?
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e n e N &, d@ 121" — 252 + 1900™ — (= 4)"

frfafea & @ frad favsw 2 2
(a) 1904
(b) 2000
(¢} 2002
(d 2006

Ife n=(2017)! B, @I

1 1 1 1
+ + LT e~

log, n log3 n 10g4 n 10g2017 n
fopae st 2 2
(a) 0
(b) 1

n
(c) E
(d n

(1+x® % y8r #, Ife @r + 1 3 ¢ + 2)d
UGl % T SIS 8, @ r(r# 1) B WE #
27

(a) 5

(b) 14
() 21
(d) 22

(-1- ) W& i=,—1 R, %1 J&T HIUiF F
22

(a) mf4
(b)y -mnf4
() —3nfd
(d) 3m/4

HH ST o R p anfaes @eand & it 2 wh
gy 9 8 l?ﬂ%z2+az+|3=0a3Re(zJ=1
& W1y § T srawdfes gt &, 9 98 ey
AED

(a) PBe(-1,0

(b) |B| =1
(e) BG (1, o)
(d PBe(0,1)

WWA@IB,X%W%W
C=(ANB)U @A NB)?, & A" 3K B’
FO: AR B, XU g & | C frad sue
g7

(a) (AUB)-(ANBY)
(b) (A'U B)'— (A’ N B)
(¢ (AUB)—-(ANB)

d (AUB)Y-(A'NB)



How many numbers between 100 and 1000

can be formed with the digits 5, 6, 7, '8, 9,_if

the repetition of digits is not allowed ?

(a) 8P
M) 53
(¢ 120
(d) 60

The number of non-zero integral solutions of

the equation |1-2|%=5" is
(a) Zero (No solution)

(b) One

10.

11.

If the coefﬁcieﬂts of a® and a® in- the
expansion of (1 + a)™" are o and B, then

which one of the following is correct ?

(a) a=2p
b) o=f
© 2=

(d oa=(m+n)p

If x + logyz(1 + 3%) = x log;;5 + log;;12,

where x is an integer, then what is x equal to ?
(a) -3

(b) 2
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100 3T 1000 % 1=, 37l 5, 6, 7, 8, 9 ¥ forat
HEATY 5 "ol &, AfS 3Tehi hl gAUR &l
Y ?

(a) 2°
(b) 53
(¢) 120
(d 60

FHIRT |1 - 2i|* = 5% % YL QU gl
T TRt & 2

(a) A (Eh:l'st & Rl)
(b) TUeh
@

@ o

afg q weTeHh GETIatl a 3 b AM (HWR

mw)ﬁrGM(jUﬁﬂtmw)waﬁma 5:3%,
?ﬁa:b%ﬂ%iﬂ'ﬁ'{%?

(a) 3:56
(b) 2:9
) © K
(d} B3

10. I (1 + ™" F y@R & a™ R 2" & N

i 5i (2

12,

w3 pE, @ Fefafaa 4 @ oot 2 2

(a) a=2B

(b} @=p

() 2a=p

d a=(m+n)

gfe x+log15(1+3x):xlog155 + log, . 12, ST&l
x Teh qUTih &, i x foreh ster B 2

(a) -3
(b)) 2
) 1
d) 3

ﬁaﬁ@gqtq%%qﬁm 1, 5,0, 6, 7 1 FAN
Hh 10 8 i 89 areft 9w il i fpadt

HEATY TS ST Hehel 8 2
(a) 24
(b) 36
(0 44
d 64



Consider the information given below and

answer the two items (02) that follow :
In a class, 54 students are good in Hindi only,
63 students are good in Mathematics only and
41 students are good in English only. There
are 18 students who are good in both Hindi
and Mathematics. 10 students are good in all
three subjects. :

16.

The equation |1-x| +x%=5 has

(a) arational root and an irrational root
(b) two rational roots

(¢) two irrational roots

(d) no real roots



et 5 gear a¥ A= Fg S S o7 AT |16, Wl [1-x | +x%=5 % &

(a) Ueh IR Ho 3T Tk i go
(b) g ufeE g

(c) Tl TUNHT goT

(d) =1g Wt Irfaes gor T&

g1 (02) 91 & I AT
Th HT H, 54 B had @<l H I 8,
63 BT hadl TG | 3w & AN 41 BF Hhad
AFUSH H 3D B | 18 B UH B o fa<dl 3k
i g § o= 8 | 10 B dFi fow #
3D E |

13. UH B <l g fhadl 8 & oo a1 &= =

o # sres & Afe sEeh F ored T E

(@ 99 ’ 17,
(b) 107

(© 125

@ 130

14. ¥ oE 6 e fhah @ 9 D ok 1he &

37=0 B Aferd sTft 8§ a0 7 § 2
(@) 18

b 12

(©) 10

@ 8

18.
15. afe o 3 p Prefm oy gemdt £ v

la| =1%, 1“_;5 fopueh e B 2
(@) |B]

(b) 2

) 1

d) 0

SRCY-S-ADN ' g

AT " 31 T Teenar 9@ =ieeh

(a)

(wrfoafea) &

(a) 1111

(b) 10111

() 11011

(d) 11111

§1000 , ;1001 , ;1002 . ;1003 frgh T B

(St i= 1) %
0

(b) i

() -i

(d 1



19.

21.
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What is
1 1 1 1
P T A T
lo‘g2 N log3 08, 08100

equal to(N#1)?

1

(a) ——m—
loglm! N

(b)

(c)

99

d .. W
i logg91 N

The modulus-amplitude form of J§ + i, where

i=\/jis

‘What is the number of non-zero terms in the

expansion of (1 + 243 x)11 4+ (1 — 243 x)11
(after simplification) ?

(a) 4
(b) 5
() 6
d 11

22.

23.

24.

(8-A)

What is 'the greatest integer among the
following by which the number 5%+ 7% is
divisible ?

.(a) 6
(b 8
(e} 11
(d) 12

If x:l-—y‘-l-yz—ya-&-...
where |y| <1, then
t

up to infinite terms,
which one of the

3 Py |y S P e By |
1010WINE 15 Currect

o 1
(a) =

- 1+vy

by x= !
1-v
(e} =x= i
1+y

SY

c(d) x=—
L

What is the inverse of the matrix

cos 0 sinf 0
A=|—-sin® cos® O0|?
0 0 1.
cosfh) —sin® O
(a) sin 0 cos 0 0
0 0 1
‘cosO 0 —sin®
(b) 0 1 0
sin 0 cos 0
1 0 0
(c) 0 cosO —sind
0 sin® cos 0
cos 0 sin® 0
(d) —sinfh cosB 0
o 0 1



1 1 1 1
- + e+
lc:tg2 N log3 N log4 N

foreer =T 8, (N2 1) ?

19.

|
(a) ———
logmm N

1
1og99! N

(b)

99
(¢) ——m—
10g100! N

99

(d)
Ioggg! N

20. V3 +i, W& i=,—1 B, T AYH-ITET &Y 3

2L (1+2V30M +(1-2/3x"1% R ¥ IR

TG T G TRt 8 (Sele & w1g) 2

(a) 4
(b) 5
() 6
(d 11
SRCY-S-ADN

loglm N

22,

23.

24.

(9-A)

ﬁm%%aﬁﬁaﬁ:r-maﬂﬂ%ﬂﬂqgﬁméﬁm

T 5° + 7° faursT @ 2
(a) 6

(b) 8

() 11

@ 12

qﬁx=1.—y+y2—y3+...8ﬁﬁﬁ?ﬁﬁ,3ﬁ
lyl <128, @ F=fofea & @ sHar a1 2 2

(a) x= 1
l+y
1
(b) x:m
fel le-):y
(d) le_ff
SR
cos 0 sin 6
A= |-sin® cos o}msr%&ﬁnw%?
0
cos@ -—-sin® O
(a) sin 6 cos 6 0
| 0 0 1
cos® 0 —sind
(b) 0 1 0
sinf 0 cos O
1 0 0
(c) 0 cosO —sinb
0 sin® cos 0
cos 0 sinf 0
(d) —sin® cosB® O
0 0 1




25.

26.

217.
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(b)

If Ais a 2 x 3 matrix and AB is a 2 x 5 matrix,
then B must be a ;

(a)

3 x 5 matrix
5 x 3 matrix

3 x 2 matrix

(c)

(d)

5 x 2 matrix

1 2

IfA=[ }andAz—kA—IL,:O,wherelz

2 3

is the 2 x 2 identity matrix, then what is the

value of k ?
(a). 4

(b) -4
() 8

d -8

What is the number of triangles that can be

formed by choosing the vertices from a set of

12 points in a plane, seven of which lie on the |

same straight line ? |
(a) 185
(b) 175
(c) 115

(d) 105

28.

29‘

30.

(10—A)

What is C(n, r) + 2C(n, r — 1) + C(n, r — 2)
equal to ? :

(a) Cl+1r)

(b) Cn-1,r+1)

() Cln,r+1)

(d Chn+2,71)

Let [x] denote the greatest integer function.
What is the number of solutions of the
equation x2 — 4x + [x] = 0 in the interval
[0, 2] ?

(a)  Zero (No solution)
(b)  One

() Two

(d) Three

A survey of 850 students in a University yields
that 680 students like music and 215 like
dance. What is the least number of students

who like both music and dance ?

(a) 40
(b) 45
(@ 50
d) 55



25. UG ATH 2 x 3 3THE 8 N ABTF 2 x 5
AR B, 1 B 1Ew & BT =Y
(a) 3 x5 3R |
W 5 x 3 378
() 3x23Tg
(d) 5 x 2 AR

26. EFFQ'A=[; gaﬂtA?—kA-Izzo%,aﬁ
I,, 2 x 2 TCHHS T 7, A1 k T T 41 8 ?
(a) 4
(b) —4
(e 8
(d -8

27. U Haa # 12 fagett & s wy=m ¥, O |
7%@@%ﬁwmm@m%,@r¥ﬁéﬁ§
AR ST ST aTel Byl o e o g 2
(a) 185
(b) 175
© 115
(d 105

SRCY-S-ADN

28.

29.

30.

(41 —A)

Cn, 1) + 2C(n, r — 1) + Cn, r — 2) Tereeh ITR

??

(a) Cn+1,r)

(b) Cn—-1,r+1)

(¢) Cn,r+1)

(d Cn+2r1)

AW T [x] TEH QUi %o i Eifad s
2 | 3aUe [0, 2] H GHIRT x2 —dx + [x] =0 F
gl o T feadt ? 2
(a) I (15 &A T&I)

(b) Th

(© @
(d) doH

e fovafaeme™ d 850 ©ET & s wagor A g7
ww%ﬁsomwﬁaﬁﬁr@%%aﬂt
215 B T H | I SHT hl =TaH &I foherl

2 I i i e T A why T E 2
(a) 40
(b) 45
(¢) 50
(d) 55



31. What is the sum of all two-digit numbers
which when divided by 3 leave 2 as
the remainder ?

(a) 1565
(b) 1585
(c) 1635
(d) 1655

32. If 0 < a < 1, the value of log,,a is negative.
This is justified by |
(a) Negative power of 10 is less than 1
(b) Negative power of 10 is between 0'and 1

"(¢) Negative power of 10 is positive
(d) Negative power of 10 is negative

33. The third term of a GP is 3. What is the

product of the first five terms ?

(a) 216

(b) 226

(c) 243

(d) Cannot be determined due to
insufficient data

34. If X, 3/2, z are in AP; x, 3, z are in GP; then
which one of the following will be in HP ?

(@) %6,z
(b) x,4,z
(c) x,2,z
d x1,z
SRCY-S-ADN

35.

36.

317.

(12-A)

What is the value of the sum
11

Z(in +i“+1), where i = J—_l?

(b) 2
(¢) -2

d 1+

T
,where 0 < x < —,
2

Ifsinx——l—- siny-L
V5’ J10

O<y< g, then what is (x + y) equal to ?

(a) =
YR 7
() m/4
(d 0

sin 5x — sin 38x

What is
cos bx + cos 3x

equal to ?

(a) sinx
(b) cosx
(¢c) tanx
(d) cotx



31.

32.

33.

34.

SRCY-S-ADN

3 STepi areh Vet gt dEEst w AThd = 2
ﬁqﬁsﬁﬁwﬁaéﬁﬁwé‘rﬁw o S=dT B 2

(a) 1565
(b) 1585
() 1635
(d) 1655

2 0<a<18, dl log;ga T HH FOIMCHS & |
g THETT & TR
(a) 10 % OTcHs =Td 1 ¥ FH B

(b) 10 T UTTcHe T 0 3 1% <=9 A 8
(¢) 10 hY UM HTd EHTHS &

(d) 10! SROMcH HTd FOTHD &

foreft 1ol Aeft (GP) T e Ug 38 | HeR|

T G S <l TS 91 8 ?
(a)
(b)
(c) 243

T ed % i [uifa 98 fen o
Hehll

216
226

(d)

R x, 3/2, z EHIAR At (AP) U §; x, 3, 2 TUIRH

Mrnn\'ﬁ-% :H‘Elm‘%l%ﬁrﬂﬁnﬁ:rmm

ha L NG S ¥ Sy | NPT AN AR, ONITLC

T Aofl (HP)ﬁ BT 2
(a)
(b)
() x,2, 2
()

X, 6, z

X, 4,z

p- <l I/

36.

37.

(13-A)

HH FT 8 ?
() 2

(b) 2

() -2
d 1+:

GrsT0<x<g,

ﬂﬁ'sinx: %,siny: ﬁ,
O<y<%%,?ﬁ(x+y)mw%?

(a) =
(b) n/2
(c) m/4
(d 0

sin 5% — sin 3x WW% 9

. €08 5X + cos 3x

(a) sinx
(b) cosx
(¢) tanx
(d) cotx



88. What is sin 105° + cos 105° equal to ? 41. Ifx, x -y and x + y are the angles of a triangle

(é) sin 50° (not an equilateral triangle) such that

: tan (x — y), tan x and tan (x + 5;) are in GP,
(b) $O% 90° then what is x equal to ?
) 142

(a) m/4

d o
BT - Let B = £ BOC. Which one of the following is
Co : : correct ?

a9
(a) cosf= L tan2 <
1+ tan“a
40. What is the principal value of
sin~1 [sin —2-33] ? :
By 1+ tzam2 a
l1-tan“a

(a) mf4



38. sin 105° + cos 105° frdeh IU=T & 2

(a) sin50°
(b) cos 50f’

© 12

d 0

39. TH Bgs ABC #, Al
sin A = 2/3 %, d %I B foras SR 8 2

(@) m/4
® 72
(¢ =/3
(@ /6

40, sin! (sin 2?1r
(a) m/4
(b) n/2
(¢) m/3
(d) 2n/3
SRCY-S-ADN

a=2 b=3 ¥R

41.

42.

(15-A)

afe ok By (S wwerg Bge TE 2) b b
x,x—yaﬁ'{x+y‘SHW§%tan(x—y),
tan x 3T tan(x+y)§“ﬁﬁ1aﬂﬁ(GP)ﬁ%,?ﬁx
fopereh I 8 2 '

(a) m/4
(b) m/3
() m/6
(d =n/2

% fog 0 I T g9 & A TH B

ABC ® | A9 #fifSlT o = ~ BAC, W&l
45° < . < 90° 2 | WH ifSw p = ~ BOC & |
o 7 @ AT ad 2 2
1—tan?a
(a) cosPp= ——mm—
b 1+ tan? o
' 1+ tan“a
(b) cosP=
b 1-tan?a
2tana
(c) cos B =
b 1+ tan? «

(d) sinp =2 sin?«



43.

45.

If a flag-staff of 6 m height placed on the top of
a tower throws a shadow of 2+/3 m along the

ground, then what is the angle that the sun
makes with the ground ?

(a) 60°
(b)

(e)

45°

30°

A spherical balloon of radius r subtends an
angle o at the eye of an observer, while the
angle of elevation of its centre is . What is the
height of the centre of the balloon (neglecting
the height of the observer) ?

() ﬂ
sin (E)
2
b) rsin

46.

48.

If S'ln(x+y):a+b , then what is LA
sin(x-y) a-b ‘ tany
equal to ?
a
(a) E
by 2
(a) o=n-p
(b) oa=m+pB
(¢ a=2n-pB
- (d) 20=m+2B

Suppose cos A is given. If only one value of

cos (%] is possible, then A must be



43. aﬁf%ﬁsﬁrﬂqﬂ(zm)%ssﬁﬁqwﬁﬁﬁ@e;m

44.

45.

Fd ea9ee S 9Uad T 23 m T SR GBSl
B, @ g & gUdd & WY T4 Tel BT H TH
forar 8 2

(a) 60°

(b) 45°

(e) 30°

(d) 15°

tan~! [% +tan™! [%J feheh SIS % ?
(a) O

(b) /4

(¢ n/3

(d) n/2

r T3=o a1 v MR e, TR Uarek
AE W R o AN AT 8, SEh Hb
FrGfeg 1 IAAT B B 7 | TN b chegieg
$1 F=m8 B R (Yerh 1 FETE B A I
Hd gY) ?

(2) r sin 3
. (04
sin | —
3]
b) rsin f}
o [ EE
sin | -
4)
r sin { I&]
: 2
(c) .
sin «
@) r sin o
(o)
sin
2
SRCY-S-ADN

46. 3R s.1n(x+y):a+b %, ar tan x e

sin(x—y) a-b tany

T B ?

=

-

by 2
a

: a+b

(

c) oy
a—b

d

W a+b

47.

48.

C4T=iA)

Ilﬁsina+sin[3=0=cosa+cos[33ﬁ
0<P<a<2ng, d F=fafad # @ w0 T
27 :

(a) o=n-f
(b) a=n+p
() oa=2n-

(d) 20=m+2B

a1 #IT cos A féam mam 2 | AfE cos [%]?ﬂ
Fae T B HHE 9G¥ &, a1 A BHT & =Ry

(a) 90° % T foud o
(b) 90° T TH U
(¢c) 180° %I Teh fom o

(d) 180° 1 U U



49. If cos o +cos B +cosy=0, where 0 < o < %,

50.

0<pB< E,qus , then what is the value of

A
2 2

sin o + sin f§ + siny ?

(a) O

(hy R

The maximum value of
sin (x+£] + cos (x+£],wherexe 0, E],
5 5 2

is attained at

51.

a3.

What is the distance between the points which

divide the line segment joining (4, 3) and (5, 7)
internally and externally in the ratio 2 : 3 ?

12417
(a)

5
& 1317
5
(b) ‘tan-l %
m —1
4r112n2
(¢) tan!
1'1'14+I'14
(d 45°

What is the equation of the straight line
cutting off an intercept 2 from the negative
direction of v-axis and inclined at 30° with the



T T

49, If¢ cos o+ cos P +cosy=0, T 0 < o <
0<B<—, O<y< —
p pr sy

2%’?Fr

sin o + sin B + sin y T HE 8 ?

(a) 0

(b) 3
5v2

(C) T
3v2

(d) —

50.

1 Jfrepa o YIe Bl @
(a)
(b)
(c)

(d) L

il
2

SRCY-S-ADN

|3

sin (x+g] + cos (x-h%),ﬁﬁ X € [0, g] %,

51.

52.

53.

(19-A)

3 fageti & g 1 gt = 2 S (4, 3) 3R
(5, 7) I g dTeY WWEHES 1 ATaies 3 =&
I 2:3% AU § fawfea =@ € 2

12417
5

1317
5

(a)

(b)
V17
(@@ —
5
@ S
5
e dgrai (mz—mn)y=(mn+n2)x+n33:ﬁ'(

(mn+m2)y:(mn—n2)x+m3,ﬁlﬁm>n%,

& o= =T BT TR 2

(a) tan! anz
m“ +n
4m?n?

(b) tan!

m?* —n?

(¢) tan! 4;112n24
m- +n

(d) 45°

30 TS WGT hT GHIROT T R S y-378T ohl
FROcHS faol ¥ 2 1 Id:EE HEedl & 3N
-8l gATcHR foRm % @H 30° W PR S
27

(a) x-2/8y-3+2 =
(b) x+23y-342 =0
() x++3y-243=0"
d x-+3y-248 =0



54. What is the equation of the line passing
through the point of intersection of the lines
Xx+2y—-3=0and 2x —y + 5 = 0 and parallel

“tothe line y—x+10=07?
(a) Tx—Ty+18=0
(b) bHx—-T7y+18=0
2. The length p of the perpendicular from
the origin to the line = % s
satisfies the relation —15 = —12- + —12—
p a b
3. The length p of the perpendicular from
the origin to the line y = mx + c satisfies
2 2
the relation iz = 1-1—111%
P c
Which of the above is/are correct ?
(a) 1,2and 3
(b) 1only
(¢) 1and2only
(d) 2only
SRCY-S-ADN

56.

57.

(20—-A)

What is the equation of the ellipse whose

vertices are (+ 5, 0) and foci are at (+ 4, 0) ?

2 2

(@) e L]
5 9
9 25

What is the equation of the straight line
passing through the point (2, 3) and making
an intercept on the positive y-axis equal to

twice its intercept on the positive x-axis ?

(a) “Oxgivp =l

(b) 2x+y=17
() x+2y=7
@d 2x-y=1



54, 3@ W@ w1 R w2 S t@red

x+2y-3=03M 2x -y +5=0% Jr=og forg
ﬁnaﬁfﬂﬁﬁﬁ% ﬁki@Ty—¢{+10=()%
AT & ?
(@ Tx-Ty+18=0
(b) 5x—Ty+18=0
(c) bx—-5y+18=0
(d x-y+5=0

55. fr=fefgd et @ famm hifde .

j qaﬁk@iihm m:+bj=1:miﬁﬁ?ﬁ
S R T Hl HgRe

i |
AR |
| e -

2. Hafeg @ Y@ ==l T .

o p, g =L L @ age
p2 8.2 b2

EGI _

3. I@[—ﬁlﬁﬁ@y:m}{+cmﬁﬁfaﬁm

TV R T :
p, Y — =="—_—— I Gg Ll
p c

3

STfed U 8 $H-A1/3 g8 8/8 2

(a) 1,233

(b) had 1

(¢) ©hael 13 2

(d) had 2

SRCY-S-ADN

(91 —AY

39 deig 1 arfistor o 8 fomes 3 (5, 0)
8 M T (14,00 E 2

2 2
S ——
25 9

2 2

B el
16 9
2 2

) - = sd =1
25 16
2 2

7 D |
9 ' 25

57. 3H WU W@ 1 FHEHOT 1§ S g (2, ) @

B oAl B, IR UATOHS 31y W I
AL, YACHS x-318 G Ik IIAEE
T ST R 2
(a) 2X+y=5
(b) 2x+4y=17

() x+2y=7

@ 2x-y=1



 58.

59.

~ 60.

SRCY-S-ADN

" Let the coordinates of the points A, B, C be
(1, 8,4), (0,-11, 4) and (2, — 3, 1) respectively.

What are the coordinates of the point D which
is the foot of the perpendicular from A on BC ?

(@) (3,4,-2)
b 4,-2,5)
© 4,5-2)

(d) (2,4,5)

What is the
through the points (- 2, 6, —6), (-3, 10, —9)
and (-5, 0,-6)?

equation of the plane passing

() 2x—y—2z=2

(b) 2x+y+38z=3
() x+y+z=6

d x-y-z=3

A sphere of constant radius r through the

origin intersects the coordinate axes in A, B

~and C. What is the locus of the centroid of the

triangle ABC ?

2 2

(a) x2+y2+.z =7

(b) :h12+y2+22=4r2

(€)  9(xZ%+y2+22)=4r2

Q

d) 3(x2+y?+2%)=2r?

61.

62.

63.

(22_A)

The courdinates of the vertices P, Q and R of a
triangle PQR are (1, —1, 1), (3, =2, 2) and
(0, 2, 6) respectively. If £ RQP = 6, then what
is £ PRQ equal to ?

(a) 30°+6
(b) 45°-9
(c) 66" -0
(d 90°-86

The perpendiculars that fall from any point of

" the straight line 2x + 11y = 5 upon the two

straight lines 24x + 7y = 20 and 4x — 3y = 2

are
(a) 12 and 4 respectively
(b) 11 and 5 respectively

(c) Equal to each other

(d) Not equal to each other

"The equatibn of the line, when the poftion of it

intercepted between the axes is divided by the

_point (2_, 3) in the ratio of 3 : 2, 1s

(a) Either x+y=4 or 9x+y =12

(b) Either x+y=5 or 4x+ 9y =30
(c) Either x+y=4 or x+9y=12

(d) Either x +y=5 or 9x + 4y = 30



58w R fagaft A, B 3t C ¥ i

59.

60.

SRCY-S-ADN

(1,8, 4), (0, - 11, 4) 3 (2,-3, D7 | 36 forg

D frdries @ & St AW BC W S4B 2
(a) (3,4,-2)

(b) (4,-2,5)

() (4,5,-2)

(d (2,4,5)

fogall (-2,6,-6), (-3,10,-9) 3R
(- 5,0, —6) " B oA ATl THAA

el T B 2

(a) 2x-y-—-2z=2

(b) 2x+y+3z=3

(c) xX+y+z=6

d x-y-z=3

qa-forg @ e oA e e (ereR) B
r %1 Th e cemes 38T i A, B 3R C W
Fleal 7 | TS ABC % Fgeh 1 famguy &

77

2 :'\'2

(@) x2+y2+z
(b)  x2+y%+2%=4r?
(@ 9(x%+y?+2%) =42

(d) 3 (x?+y%+ 22 =2r?

61.

62.

63.

(23-A)

w Bys PQR % 3fiWi P, Q 3R R & Fdwies
THESL (1, -1, 1), (3, -2, 2) 3R (0,2,6) 8 | I
/RQP =08, d ~ PRQ frae sq=t 8 ?

(a) 30°+0
(b) 45°-6
() 60°—8
(d 90°-06

o W@l 2x + 11y = 5 % fet oft g |, @

. WA @Al 24x + Ty = 20 3MW 4x — 3y = 2 |

(a) SRAT: 12 3R 4

(b) SHES: 1137 5

(c) TH-GE % S

(d) TH-GER o S TE

39 T@1 1 el F ¢ e e & s o
Fd:@led 39, g (2, 3) % G 3: 2% I
4 famfoa gan 2 ¢

() AMA x+y=43 9x +y=12
(b) I x+y=>57T 4x + 9y = 30
(c) EIT?-T;[x+y=4E|Tx+9y=12

(d I x+y=>53 9x + 4y = 30



64.

~ 65.

66.

What is the distance between the straight
lines 3x +4y =9 and 6x+8y=15?

(a) 3/2
(b) 8/10
(© -6
(@)%

What is the equation to the sphere whose

centre is at (— 2, 3, 4) and radius is 6 units ?
(a) x2+y2+z2+4x—6y—8_z=7
(b) .x2+y2+22+6x—4yf82=7'
() x2+y2+2z°+4x—-6y—8z=4

(d x*+y°+z2+4x+6y+8z=4

- > -

If a and b are vectors such that | a | =2,
fen 1y = — A A A

| b|=7and a x b =3i +2j +6k, then

. - -
what is the acute angle between a and b ?

(a) 30°

67.

68.

69.

(d)

- - i
Let p and q be the position vectors of the

points P and Q respectively with respect ‘to
origin O. The points R and S divide PQ
internally and externally respectively in the

> —
ratio 2 : 3. If OR and OS are perpendicular,
then which one of the following is correct ?

(a) 9p?=4q>
(b) 4p%=9q?
(¢) 9p=4q
(d) 4p=9q

What is the moment about the point

A A A A A
i +2j — k of a force represented by 31 + k

A A A
acting through the point2i — j +3k ?
A A A
(a) —-31+11j +9k

A A A
(b) 31 +2j +9k

. A A A
() 3i+4j+9k

A
1

el g

A
+ j +

M — ey o o
If a+2b+3c¢c =0 and

e e e
a %:b -+ 'bxre # € X ‘a

then what is the value of A ?

- o
=A(b x ¢

),



64. T @Il 3x + 4y =9 I 6x + 8y = 15 %6 | g7.

fa gl wn g2
(a) 3/2

(b) 3/10

() 6

@ 5

65. 39 7ol ol HISHT 47 & fSrEent &g (- 2, 8, 4)

Ry eyfe 2

(@) x2+y°+2z°+4x-6y—8z="7

(b) x2+y2+z2+6x~—4y—82=7
)

() x2+y2+2z2+4x—-6y—-8z=4

d x2+y2+22+4x+6y+8z=4

66. I & oM b WARW E R |2 | =2

= — — A A A
| b | =73 a x b =81 +2j +6k & @
&, ‘=%
2 3 b i =R R 2
(a) 30°
(b)  45°
(€  60°
) 90°
SRCY-S-ADN

68.

69.

(25—A)

" S qa-fag 0 % wmE, fagat p et
¥ feufy aftw s p et g # | frg R 3R
S, PQ ! 31aieh 3R &8 €9 o shHI: 2:3 %
v # frfm w@ § 1 A OR ¥R-08
TR o9 8, df AEfifad § | Si9-ar a8 8 2

(a) 9p?=4q>

(b) 4p?=9q¢>
(¢) 9p=4q
d) 4p=9q

37 + k & Frefia sw, <t fig 21 - § +3k &
FrRa 2, g 1+ 2] — k % 18 sl @
g7

A A- A

(6} ~Bi+l1lj«+9k
A A A

(b) 31 +2j +9k

A A A
() 31i+4j +9k

A
1

A A
(d) +j+k

—> — - —>
?T%a+2b+30=033ﬁ'(

iy —> = >
C

axb + b x +

%,aﬂummw%;

(a) 2
(b) 3
() 4
(d) 6



- -
70. If the vectors k and A are parallel to each

71.

72.

e
other, then what is kk x A equal to ?

.....).
(a). k%A
2y
(b) 0
=3
(c) ~k2A
_)
d A

Which one -of the following is correct in
respect of the function f: R — R' defined as

fix) = ix+ 101 0

(a) fx?) = [f(x)]?

(b) fi|x])= |fix)]|

(c) flx+y) =1x)+1y)

(d) None of the above

Suppose f: R — R is defined by

2
fe)is 5 - What is the range of the
1+x :
function ?

73.

74.

75.

If fix) = |x| + |x— 1], then which one of the
following is correct ?

(a) flx)iscontinuousatx=0andx=1

(b) f(x) is continuous at x = 0 but not at
x=1
(¢c) flx) is continuous at x = 1 but not at

x=0

(d) f(x) is neither continuous at x = 0 nor at
x=1

Consider the function

len|x| x#0
fix) =

0 x=0

 What is f(0) equal to ?

(a) O
b 1
(c) -1

(d) It does not exist

What is the area of the region bounded by the

parabolas y2 = 6 (x — 1) and y2=38x?

J6
(a) 3



70. aR WRW & 3 A whgE % g & |78 T L0 = x| + |x- 1] B, @ Frefofen & @
ﬁxz%{ﬁaw%? T R 2
(a) fx), x=03MN x=1T Had &

—
2 -
AR () fix), x=0R d Hdd &, Ak x = 1 T &l
(b) '3 (¢) f(x), x=1T @ Had &, Aferd x = 0 T 78
o3 (@ fix), T x=0WHME AT x=1]
(¢ -k%A
—>
& 74. HAd
x2In|x| x#0
flx) = T fo=m hifse |
; —_ .0 x=0
7. %od f: R— R, & fx) = |x + 1| % g e i
gfiiea 8, & wed # F=fafea 4 9 w9
a1 8 ? (@ 0
; ; b 1
(a) f(x?) = [f(x)]? ®l
(e -1

(b) fi|x|)=|flx)]
(d) 391 Afeaed T8 8
() flx+y)=1x)+1fy)

(d) 39w H ¥ Hig TEI ‘
75. y2 =6 (x - 1) 3 y2 = 3x g7 INeIg &
2 & SABA TR ?
72.mr—ﬁ%er:R—>R,ﬂx)=1x2%§m ,
+X
gfanfya B | 39 B 1 9iER (3) FT R 7 (a) —‘/35
(a) [0,1)
' i 8
3
(b) [0, 1]
_ 46
: () ——
{c) (0,1] 3
d (0,1 @ 58
3

SRCY-S-ADN (27-A)



Consider the following information for the

next three (03) items that follow :

76.

77.

78,

Three sides of a trapezium are each equal to

6 cm. Let o e [0, g] be the angle between a

pair of adjacent sides.

If the area of the trapezium is the maximum
possible, then what is o equal to ?

If the area of the trapezium is maximum,
what is the length of the fourth side ?

(a) 8cm

(b) 9cem

(¢) 10cm
. (d) 12ecm

What is the maximum area of the trapezium ?

79. What is J. e* sin x dx equal to?

81.

(a)

(b)

(b)
(c)

(d)

What is jA xInxdx equalto?

(a)

T

0

f3) =15
f(3) =3

fi3)=-15

e

1

e+1
4




wﬁw&mﬁ#(os)mﬁiﬁyﬁﬁ%ﬁ

w1 o¥ faemy #ifee

©F gues 6 A gl s @ oK T @
U% Hl AWE 6em & | HA  efdw
ae[o.g}dwgmaﬁ%@w%mw
I R |

76. dfc GAAs w1 &% gyifad sftrerad 2, 9@ «
e et R 2
(@) =
a) 5
1 i
(b) 1
T
) L
(c 3
2n
i . o
( 5
77. AC THEE H GBS ATUhan g, a1 =l g
&1 TS T B 2
(a) .8cm
(b) 9cm
(e) 10 ecm
(d) 12cm
78. WS h! SUHdH STh T & ?
(a) 36«/5 cm?
(b)  30+/3 cm?
() 273 em?
(d) 24J§ em?
SRCY-S-ADN

n

79. Iex sin x dx, TrEeh SRR 2 -

80.

81.

(29-A)

0

(@) e™ +1
2
g1
b
(b) 5
(c) e™ +1
e +1
(d)
4

%2 -9 D
Ife f(x):2——,313Tx¢3%,x=3 Ty

x“ —-2x -3

Had 8, 9 Fefafga d @ sw et 2 2

(a) f(3)=0

(b) f8)=15
() £8)=3
(d fl38)==15

e

I xlnxdx,ﬁiﬂ:l%l;w%?

e+1
(a) 1
(b) e2+1
' 4
: e—1
)
(c 2
2
=1
d)
( 4



82.

84.

5
What is J. [x?l dx equal to (where [.] is the
) .
greatest integer function) ?

(@) V2 -1
(b) 1-+2
ATy = Mt

() 16/3
(d) 4

If f:R— S defined by

f{x) = 4 sin x — 3 cos x + 1 is onto, then what is
S equal to ?

85.

B7.

For f to be a function, what is the domain of f,
1

if flx) = m ?
(a) (=, 0)

(b) (0, )

(€) (oo, )

(¢) x+y=c

(d)

il
o

Xy

What is the derivative of the funection

?

fix) = et X 4 Ip (sec x) — e X at x = —E

(a) ef2



J2 85. Il Tk o B, dl £ Tid (SHA) 1 & afe
82. J‘[xz]dx,%e%w%(aﬁqugﬁﬁ )= a9

Jix|-x
0
B B) ?
) (a) (=0, 0)
&y — 2 -—1
(b) (0, )
B 1-~2
() (=0, 00)
© 2(4J2 -1
(d) (—eo, 0]
d) +/8-=1

86. 3TThHeT GHIHUT x dy —y dx = 0 1 &1 T @ ?
83. 16sin 60— 12 sin2 6 I fehdy AF FA1 8 ?

(a) xy=c
(a) 3/4
)  4/3 L
() 16/3 (¢) x+y=c
d 4 . (d x-y=c

_ 87. oM f(x) = et ¥ 4 In (secx) — e X FH x = ~ T
84, IR f: RS, &l fix) =4 sinx—3cos x + 1, 4

STaHAST T 8 ?
ITEBEH 8, a S foroes sen 8 2
(a) ef2
(a) [-5,5]
®)  (5,5) L
() (~4,8) () 2e

SRCY-S-ADN (31-A)



Which one of the following differential

88.
equations has a periodic solution ?
d?x
(a) +ux=0
dt?
d?x
(b) — = UX= 0
dt?
dx
( — +ut=0
¢) X ) W
(d) g +uxt=0
dt
where u > 0.
89. What is the period of the function f(x) =sinx ?
(a) mf4
(b) m/2
(¢) =
(d) 2n
90. Whatis dX equal to ?
2¥ -1
(a) n(2*-1D+c
_ X
(b) In1-27%) Lo
In2
In@™* -1)
() —— +¢
2in2
0—X
) n(1+2 )+c
n2
SRCY-S-ADN

91.

92.

93.

(32-A)

The order and degree of the differential

€’

equation y?=4a(x—a), where ‘@’ is an
arbitrary constant, are respectively
(a) 1,2
(i (21
(el 1252
@ 1,1
nf4
What is the value of I (sin x —tan x) dx ?
—nf4
1 1
(a) -—=+In|—
i)

: 1
(b) —

J2
(e 0
@ V2

b b
If J‘ x3dx = 0 and J. , then
a a

what are the values of a and b respectively ?

(a) -1,1
) R 7§
() 0,0
@ 2,-2



88. fmfetfiad sreehet wfioni # @ formant et | g

B8 2

(a) ~i:—;{+p,x=0
(b) %:—;—uho
(c) xi—: +ut=0

dx
d fur i, t =
(d) dt+ux 0

& u>0 % |

89, e f(x) = sin x T ATAdhI T & ?

(a) m/4
(b) m/2
() m
(d 2n

, Topees et 2 2

90. o
' 0 i

(ay n@*~1)+¢e

il ~27%)
taoto S

b
() In?2

(2= <1)

(©) 2In 2

In(1+2™)
— " 4c

d
@ In2

SRCY-S-ADN

92,

(33-A)

y2=4a(x—a),ﬁﬁ‘a’@@?@w3, *
Fraehcl FHIRT Hi ife (ATR) ot uma (ferft)
HI:

(a) 1,2
b 2,1 .
tc) 2,2
@ 1,1
)i
J. (sin x — tan x) dx < HIF &1 & ?
— /4

(a) —% p ln[%]

i1
h) —
J2
| (¢ O
@ A2

b b
- aﬁjxmzoaﬂ:szdx:gg,a

aaﬁtab%ﬁmm:w %a?

(a) -1,1
(b) 1,1
() 0,0
d  2,-2



1
94, Whatis . I x(1-x)?dx equal to?
0

(a) 1/110
(b) 1/132
(e) 1/ 148
(d) 1/240

5 Titan - T, 5 SRV
x—0 sin 2x

(a) .1/2
{3 nabi &
(c) 2

(d) Limit does not exist

‘ . J2x+8h -2
96. - Whatis lim s vax

hea0 oh
(a) _ 2\/12_::
) %
©) 2J?:‘z_x
() 4‘%
SRCY-S-ADN

equal to ?

equal to ?

97.

98.

199.

(34-A)

If f(x) is an even function, where f(x) # 0, then
which one of the following is ¢orrect ? '

(a) f'(x)is an even function
(b) f(x)is an odd function

(¢) f(x) may be an even or odd function

depending on the type of function

(d) f'(x)is a constant function

1 .
If y = e sin 2x, then what is gi atx=nm
b.4

equal to ?

(a) A+mn) e"2

(b) 2n e’1E2
@ o

2
(d) e

What is the solution of
(142x)dy~(1-2y)dx=07?

(@) x-y-2xy=c

(b) y-x-2xy=c
(€ y+x-2xy=c

(d x+y+2xy=c



1 |97, AR fix) TH TH Bew B, FE fix) < 0 B, @
94, I x(1-x)?dx, TorEer sITeC & 2 fefafga d @ s g 2 2
0
(a) f'(x)TH B 8
(a) 1/110
(b) f'(x) v\ wam B
(b) 1/132
(¢) f'(x) &% A1 a9 B B Tehar 8, S e
(c) 1/148 % TR T A e 2
@ 1/240 (d) (o) TH TR FeH @
9. lim t?nzx,ﬁﬁa%w%?
b4 Sin 22X 2
& 98. Qﬁyzex sinzx%,ﬁ%sz:nq?W,
(@) 1/2 foraeh seX 2 2
b 1 @ (LEnye”
(c) 2 2
(b) 2me™
(d) Hmr  SAfedcy 8t B 2
(e) 2e™
@ G
96. lim "2“3}1_5,%&%@3{%?
h—0 2h
(a) .
2/2x . 99. (1+2x)dy—(1-2y)dx=0, % B &1 & ?
3
b)) — (a) x-y-2xy=c¢
2x
3 (b)) y-x-2xy=c
(c)
242x
(c) y+x-2xy=c
@ —
425 (d x+y+2xy=c

SRCY-S-ADN (35-A)



100. What are the order and degree, respectively, of

101.

102.

the differential equation

2
iiz = y4 + [92)5 ?
dx® ) . dx ).

(a) 4,5
() 128
(@ 82
(d 5,4

In a Binomial distribution, the mean is three
times its variance. What is the probability of
exactly 3 successes out of 5 trials ?

(a) 80/243
(b) 40/243
() 20/243
(d) 10/243

Consider the following statements :

1. P(AUB)=P(A)+P®B)-P(A NB)

2. P(ANB)=P®B)-PANB)

3.  P(ANB)=P@®B)PA|B)

Which of the above statements are correct ?

(a) 1and2only
(b) 1and3only
(¢) 2 and 3only
(d 1,2and3
SRCY-S-ADN (36

._A)

103.

104.

105.

If the correlation coefficient between x and y is
0-6, covariance is 27 and variance of y is 25,

then what is the variance of x ?

(@) 9/b
(b) 81/25
(e} . 9

(d) 81

The probabilities that a student will solve
Question A and Question B are 04 and 05
respectively. What is the probability that he

solves at least one of the two questions ?

(a) 06
M) +0:7
(¢ 08
(d) 0-9

If

x; = a + cy; for some constants a and c, then

Let X be the mean of x,, x,, X3, ..., X.

what will be the mean of y;, ¥y, ¥3, --» ¥ ?

(a) a+cx
(b) a—li
c
(c) -1—E-a
c
g AR
c



101.

SRCY-S-ADN

' 100. 3YTHd  GHIEHWT (d—H'X]Z ] (ﬂf, E]|

dx3 dx
ﬁﬁ(aﬁét)_aﬂurra (feaft) shmsr: o & 2

(a) 4,5
(b) 2,3
(e 3,2
(d) 5,4

us fgug sieq #, mvem, e 1 o T (fore)
21 5@ (Theon) § 4 dik-de 3 gheand

3T st ITRreRar I R 2
(a) 80/243
(b)  40/243
() 20/243

d 10/243

102. Frafefaa suat w fomm $ifs .

1. P(A UB)=P(A)+P®B)-P(A NB)

2. P(ANB)=P(B)-PA N B)

3. P(ANB)=P(B)PA|B)

ST | § S Ho TE E 2
(a) had 13K 2

had 13K 3
*ad 2 31 3

1,23 3

(b)
(c)
(d)

(37

103.

104.

105. AF HNT x,, x,, Xg, ...

A

I x IR y & @9 HgEEy NE 06 B,
TEIEWT 27 8 3 y BT YO 25 B, @ x &
T T B 2

(@ 9/5
(b) 81/25
© 9

(d 81

e faeneff gro w99 A 3k 91 B ) 8 = U
=T WTRIeRdTd SFAST: 0-4 3R 0-5 8 | &1 TRrehar
%%a‘&faﬁmﬁ%mﬁm@aﬁwaﬂ
T 2

(a) 06
(b) 07
(¢) . 08
(d 09

, x, H A X R |
?Jﬁx£=a+cyi%,ﬁlﬁa3ﬂTcaﬁ'§W%,Fﬁ
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106. Consider the following statements :

1. If the correlation coefficient B 0, then

the two lines of regression are parallel to

each other.

b2, If the correlation coefficient Lo

(d) Neither 1 nor 2

107. If 4x — 5y + 33 = 0 and 20x — 9y = 107 are

two lines of regression, then what are the

values of X and ¥ respectively ?

fan 1) Aend 10

108. Consider the following statements :

1.  Mean is independent of change in scale

and change in origin.

2. Variance is independent of change in

scale but not in origin.

Which of the above statements is/are correct ?

109. Consider the following statements :

1. The sum of deviations from mean is

always zero.

2, The sum of absclute deviations is

minimum when taken around median.

Which of the above statements is/are correct ?



106. F=fafga suat w fomm Shifs -

107.

1 W weEEw T ro-0 3, @ 2
T YETE T-gE % i |

2. 3R EEEW qOF 1 = +1 R, A I
THIHAO T@TE TR &4 8 |

mmﬁaﬁm/ﬁaﬁ/ﬁ?

@ +ad 1

(b) HaE 2

(c)

13 2 T

(@ Ad LI

aﬁ4x—w+33=oﬁh2m-9y=m7a
U W@ 8, @ x 3 y & HA HEAY: R
g2 '

12 37 18

(a)

(b) 183712

(c) 13317

(d 17313
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108. F=foiRad wemT w femm Hifso

109.

(39-A)

1. W, AOsHA H 9CaTd o 4ot & "gele &
@A 2 |

2. WE, HHH ¥ 9eeTE ¥ T § 0 gel

7§ aged | TE |
ST § | HI-H1/H FoH T /T 2
(a) A 1
(b) HaA 2
(¢) 13K 23

(d dd 1,982

frfafea et w fomm hifs

-L-Wwﬁﬁﬁﬁaﬂﬁmﬂﬁhﬂﬁam
2

2. Tt fomeri 1 Fmed 99 =an g 2
9 3 HifereT A foe 5w #

U FUAT H ¥ HH-A/F T R/E 2

(a) <ad 1

(b) hae 2

(¢) 1R 23

@ TAM1LId e



110.

111.

112.

What is the median of the numbers

46, 0, 93, —4'8, 76, 2:3, 127, 35, 82, 61,
39,527

(a) 3-8
(b) 4-9
(a); = b7
(d 60

In a test in Mathematics, 20% of the students

obtained “first class”. If the data are

represented by a Pie-Chart, what is the

central angle corresponding to “first class” ?

(a)© 20°

(b) 36°

(c) 22

(d) 144°

The mean and standard deviation of a set of

values are 5 and 2 respectively. If 5 is added to
each value, then what is the coefficient of

variation for the new set of values ?

113.

114,

115.

A train covers the first 5 km of its journey at a
speed of 30 km/hr and the next 15 km at a
speed of 45 km/hr. What is the average speed

of the train ?

(a) 35 km/hr
(b) 375 km/hr
(¢) 395 km/hr
(d) 40 km/hr

Two fair dice are rolled. What is the

probability of getting a sum of 7 ?

(a) 1/36
) 1/6

© 17/12
@. . 5/12

If A and B are two events such that
2P(A) = 3P(B), where 0 < P(A) < P(B) < 1, then

which one of the following is correct ?

(a) P(A|B)<P(B|A) <P(ANB)



110, &3 46, 0, 9-3, — 4-8, 7-6, 2:3, 12-7, 8'5, 8-2,

111.

6-1, 3-9, 5-2 <1 HIFEIRT AT @ ?

(a) 38
(by 49
(c) b7
l(d) 6-0

i <1 U wlen §, 209 o “wom A g
A B | A T H UH 913 9R (JUnE) g
frefta fren wmen 8, @ “gum Aot % wg
e 19 IO T B ?

(a) 20°
(b)  36°
“(e) T72°
(d) 144°

112. 9fEMN (A1) % UH qg=E &, Wey S qHw

fomem wman 5 3R 2 8 1 afe ws gl
(wH) ° 5 e fem S, 9 wfmml % qu
Y= o Toremol ToMeh 7 8 2

(a) 10
(b) 20
{c) 40
(d) 170
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113. TH LTS AT I % F29 5 km, 30 kmv/hr

114.

(41-A)

# I F 3N I 15 ki, 45 km/hr T =7
T T H & | Torel 61 ftad =et =R 9

(a) 35 km/hr
(by 375 km/hr
(¢) 395 km/hr
(d) 40 km/hr

<) Feugr ardi 1 HeR S 2 | I W AR 7
A <h STiThe # & 2

(a) 1/36
by 1/6

© 17/12
(d) 5/12

115. @ A 3R B 39 WhR &l @ gamw 2 fF

2P(A) = 3P(B) 78 0 < P(A) < P(B) < 1 &, 4l
Frafafga d g s w2 9

(a) P(A|B)<P(B|A)<P(ANB)
(b)  P(ANB)<PB|A)<PA|B)
(¢) PB|A)<PA|B)<PANB)

(d PANB)<PA|B)<PB|A)



116. A box has ten chits numbered 0, 1, 2, 3, ..., 9.

First, one chit is drawn at random and kept
aside. From the remaining, a second chit is
drawn at random. What is the probability that

the second chit drawn is “9” ?

117. One bag contains 3 white and 2 black balls,

another bag contains 5 white and 3 black
balls. If a bag is chosen at random and a ball
is drawn from it, what is the chance that it is

white ?

(a) 3/8

118.

120.

Consider the following in respect of two events
AandB:

1. P(A occurs but not B) = P(A) — P(B) if
BcA :

2. P(A alone or B alone occurs) =

P(A) + P(B) - P(A N B)

3 P(A U B) = P(A) + P(B) if A and B are
mutually exclusive

(b) 1/21
() 3/14
d) 8f21

The standard deviation o of the first N natural
numbers can be obtained using which one of
the following formulae ?

N2 _1

e 12

o=

—



116. T fssat 4 10 ufai € R ww 0,1, 2, 3, ..., 9

117.
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foran gam @ | vt wH el ageed T
St @ SN Th W W@ @ A 7 | Sehl giee)
44, wh gull o= agesar freeft S @
el w=ll & “9” g <l wiRrhar o B 9

(a) 1/10
(b) 1/9
(¢ 1/90
(d) IwdEa o & HiE TE

Th Il H 3 6 3R 2 Fel 78§, g 9§
5 T%g 3T 3 wrelt e & | Ift ww 9 =i
IIgesdl g1 Il 8 AR oM | TH e e
STt B, A e & The g <l @1 Tl & 2

(a) 3/8
(b)  49/80
() 8/13

@ 1/2

(43 -

118. 2 HeIel A 3R B ¥ wed #, Fefafed w

119.

120.

A)

(d)

faem S

1. P(A=fd g afs B &) = PA) - PB)
Ik Bc A

2. P(®IA A I Had B Hied @) =
P(A) + P(B) - P(A N B)

3. P(AUB)=P(A)+P(B)afe AR B IR
el &

Swad # @ wH-EA T 22 2

(a) had 1

(b) hael 13 3

(c) whad 23N 3

(d) e 13K 2

4 9e91 3R 5 Afgensdt % Uh wHg d ¥ 3 A
1 Tk gfufa &1 === v S 8 | afe swm
AT o ST &, o e wifiekar @ 6 g
dten-dleh 2 HeHT Jey & ?

(a) 5/14

(b) 1/21

(¢c) 3/14

8/21

frfcifiaa & & fha g3 o1 W= e, 99| N
Thideh &S 1 WA foaed o, I fema
ST HehaT & 7

N2 -1

(a) o= =

N2

(b) o=

(c)

(d)
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Note : English version of the instructions is printed on the front cover of this Booklet.
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